
Ajustar y completar reacciones.
1) Completa las siguientes reacciones: Solución  

Cu(OH)2    + Na2CO3    -----------

FeCl3 + HClO2       ----------

Ca(OH)2 + HBrO3      ----------

Fe2O3 + HCl          ----------

MnO2 + HCl          ----------

Pb(OH)4 + H2SO4      ---------

ZnCO3 + NaOH     ----------

Al2(SO4)3 + KOH       ----------

Mg 3 (PO4)2 + H2SO4    ----------

2) Ajusta las siguientes reacciones: Solución  

Cu(OH)2    + Na2CO3    ----------- CuCO3 + NaOH

FeCl3 + HClO2       ---------- Fe(ClO2)3 + HCl

Ca(OH)2 + HBrO3      ---------- Ca(BrO3)2 + H2O

Fe2O3 + HCl          ---------- FeCl3 + H2O

MnO2 + HCl          ---------- MnCl4 + H2O

Pb(OH)4 + H2SO4      --------- Pb(SO4)2 + H2O

ZnCO3 + NaOH     ---------- Zn(OH)2 + Na2CO3

Al2(SO4)3 + KOH       ----------  Al(OH)3 + K2SO4

Mg 3 (PO4)2 + H2SO4    ---------- MgSO4 + H3PO4

http://www.elortegui.org/ciencia/datos/1BACHFYQ/ejer/resueltos/ajust001.pdf
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